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EE pal FREH
I (@ () 140.51-102.00 R-102.00
100-0 60-0 IM
R=3851x2% 1102
100
=125 Q (125.106 Q) 1A
(i) B 60 °C - 1A
(b) = g5, E
ttj;?%&»’;é? i &E!l/\ /‘JZJIH\ [C — }
KEVE & < BE LF mAT
ERIEMAREEENREERR 60°C SNEERE |1A
P AT <60 °C >
(20 PR LA ST IS | /D IR B B IF 3 51 60 °C IS FEA A9 E [1A |
LR E W ELLERN /D - 1A
2. (@) 210atmx (1.0 x 10*cm®)=2.0 atm x M B2 eAEEERGRBENEE
V=1.05x10° cm® 1.05 x 10° (cm®)
B 4 FE A 22 F 84 FE = 1.05 x 10° - 1.0 x 10*
=1.04 x 10° (cm®) 1A
() (@  Vy=1.04x 10° cm’ + 60 IM/1A V= 17500 (cmo’) #0134 7 25 8 1 8
= 17333 ~ 17300 (cm’) (F 43 §8) BB
() V7K I 22 R AR V'=4.60 x 10° cm® PR -
RV, _ PV R =263 7y B UEH 5 BRI ek
T, T, Gt
210x(1.0x10%) _ 4.5xV" M
273 +24 273+20 ‘
'=4.60 x 10° cm’
] {3 FE 6 2 SBEFE=4.60 x 10° — 1.0 x 10*
=4.50 x 10° (cm®)
B R R 2
_ 4.50x10°
17333 M
=26.0 (474%) 1A
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(a)
BEAR&kplEs
FEIEFEIE R K EH ve CKELFEHE OB) - 1A
I 5
il =mgh
2mv mg
vp- =2gh =2 x 9.81 x (8 cos30°) 1M
vg=11.7ms™' (11.65896) (& 11.77ms" {1 g=10ms?) |l1A
() (1)  x=vg2=11.7c0os30°x 1.25 [v,=vpc0os30° ] IM
=12.6 m (12.62119) 1A
(B 127ZF 128m Al g=10ms?)
(i) 1 5
=ut——gt
y=ut==g
u=v,=vp sin30° =583 m s~ IM
y=v,(1.25)- %(9.81)(1 25)% M
y=-0.38 m(-0.414 & -0.352 m) 1A
(8] -0.455 & -0.4375m %1 g =10 ms?)
& CHEBEL03Sm T
(c) HEHEMEEMEE / A8 - 1A
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@ FHR/EGRE(EEr=15sBEFILIEELRT) ; 1A
FRZ B GMERTHRE (EE1=359) ° 1A
b O 4y = -1-0 M
3.5—1‘5’
=0.5ms™ 1A
(i) a/ms™?
5
4
3
2
1
0 Q4.5 1 1.5 2 3.5 s
-1
-2
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H o — {0 2R fE IEHE 1A
4 ¥P IEHE 1A
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EEEIERA IR
M
EE¥E ST f
BEE Wimg
F T A R JEE 82 1A
2 I IEHE 1A
(d) [\ F#EE) : -mgsind-f=ma M
~(1)9.81) sinf—f=(1)(2)vvvvveeereernnn. D
[T EE) —mg sinf+ f=ma’ M
—~(1)(9.81) sinf+ f= (1)(=0.5) ..o, ®
@-D:2f=15
7=0.75N 1A
(& 6=17.32°
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EXEFLIE  RREEASEERGESH FRBNE—F 1A
H o b AR R 90° s -
EKXKHEELIRE o INERF > @FHREBERKA 0 EF 1A
B oHHE -
HTHBEMIES
BH: Tcosf=mg............. @ M
KIE: Tsin@=ma.............. ®
HfmBEBHRNEE
%: tan¢9=—;—

a = gtanf 1A
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6. (a) - HEMES;H 1A
-HEET EHENERE -
EEEIELREL TR 1A
(b) (i) nysin 8, =mnysin G, =n3sin 63 = pny sin 6, M
sin 6, = sing,
ny
., 1.000221
O st (00261 M
=89.5° (89.488°) 1A
o h
(i) L= =
tan o tan@l M
L=htan 91 =1.5tan89.5° =167.72
~168m 1A #2167.7m % 1720m
W= a1 17188 M
tana  an0.5°
=172m 1A
2
() FHEFEESE (168m) Z IR 1A
TKE NS EHEBYENLEEMEBNEE A
&S Fr g - 1A
[BIEL /K SEHY A A o= 90°— 89.488°=0.512°]
A ENXGRITMENREOEREIARMER > TK 1A
S U5 168 m ANEYEEBE Ol 2 M E R /KB AE) 1A
2
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EE VAR SREA
7. @ ap=2L M
a
_(650x107)x3.0
0.325x107
=0.006 m 5 6 mm 1A
2
(b)) ER#HHEEER 1A KD TEBERETH
(B8 B 00 B H N R ) w8 ] e R
REESRETYT) -
LEDs F7 8§ 5% i A FH -1 (RIE WA (8 LEDs 28 6 (1A
T8 A 18] 2 AR AL IoH %)
2
(¢) = PS,—PS,=10mm - L, IEi#E 1A
127 PS;—PS,=20mm > L, IEF# 1A
HETFH E P#EE) 1A
3
10 mm
100 _— X . T
N IR y > -+ A IlOmm
90 HNE. S RN A N oRees
> - DN b Ly:PS;—PS; =20 mm
80 et RS SERTRRE calan
L‘ X ™ \
70 = N\
Y; 3 \‘\ - Ll PSI_PSZ =10 mm
60 NG T : ;
Sk ? N PN T
2! N 7 N N
X 7 ! . J \
50 e e
st SN 3 \
: B \ \[ A e
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NASE ¥ \ . ,
30 W 5 2 .
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20 B / / 1 frofer |
s P, / l ll
G /
10 SmEn fial / / /
- Ve I
~ ;7 ; 7
0 el vt V4 Ve
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(d (@ Ay=y,—y;=31mm—14mm=17 mm*2 mm 1A
1
(i) FRABEEE BID>>a 1A
ENERRE D>y / BIEE y R P RER)
BROEEGETEEE R R AT > BIREEMRE D>>a 1A
(Bl D>>y SREEW )
FIFR /NI UE (0~) sinO~tan 6/ 1A
FREETER /NAHT L
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8. (@ () p=%4 M
R_p_26x107°
I 4 13x107°
=20x10°Qm™
=200Qkm” H2.0Q 1A
(i) BHHEBEEGLIGHER/ EENEEMBLE KA
B EE AR/ EIE R B E R B
Reavie =ZR6 =0.05 Qkm™ 5 0.05Q M
( ! =~1—+—1—+...+i—> ! =)
Rcable R R R Rcable R
(i) /NEEHREABHELE—/NEEEEBEEKX - 1A
BNEE—EE/NEEEE EWHEE R (1A
MEESEmBNELAENEHIEE D) -
Rt @ ENE B ey B AR - 1A
b @) P 180x10° M
TV 400x10°
=450 A 1A
() BWIHRBENE S = If"’”xmo% M
total
- 4502><0.056><10X100%
180x10
=0.05625 % <0.1 % 1A
Gip O N:N=Vp: V5
12:1=400:V,
V,=333kV 1A
I TEMEE—IE:
GEBAVEIL + EHESEENGE/ 1A+1A

0 B REALRIOH B + (58 PSR 0/
OB EAERER + BRI /
BT SR YR + D RYRRE
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9. (@ [=FA (BRETRE > %5 B AL 1A
ERIEGSEBEE TR H T XU NERE 1A
> FEREOERERE T
BEREEYE > EESE " ORI LN R
R E - 1A
by O HWFE=Fxd
7.2 x 107N m = £(0.09 m) IM
2 T2x10 =
F o= 0o 8.0x 107N 1A
(ii) F=BIl M
8.0x 10°N=B(32A)(0.06m)
B=0.042T 1A
© (O IErEEE 1A
) Bl HIRE

%ﬁ 1

() HR RS et T e (R L5 E TEE) -

1A
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EE pan 4 55 BH
10. (a) ‘HHf5E
=(2.014102 + 3.016049) u — (4.002602 + 1.008665) u M
=0.018884 u
B HEAIEERE =0.018884 x 931 MeV
=17.58 (MeV) 1A
B BRI EEE = 0.018884 x 1.661 x 107 x ¢
=2.823 x 1072 Y 5% 17.64 MeV 1A
2
b ) HHEWHE (E) KRFZHEN GEE) HFiE 1A
MR (R R F&AY) A - 1A
2
(i) EEEECMAERHEECIZERNEFEZNE
M) ] 1A
1
(i) EheeEB ESHE BZeE "x2, WEF
_ho 1 2_n 3RT M
E,=2x 2m(c,ms) 2X 2N,
0.4 MeV = 2x (831X 0.4MeV=64x107]
2x6.02x10%
T=1545x 10°K EI&& 4 10° (K) 1A
BRI E
g o L @ ., 3RT M
P o4meg, 107 N
T=556x10°K EIEE4 10°(K) 1A
2
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BE : RXBNMXHEB
1. A(34%) 2. C(53%) 3. D(57%) 4. B(46%)
5. B(40%) 6. C(60%) 7. A(46%) | 8.D(52%)
EE g ]
L@ () TEEEEGBREAKNEERESE /b |IA

BREETOINEENSREER LOEE o

(i) D& 1A
(b) vy =180 km s 1A
2nn 2nn N '
v, = = 8 HE T'= 40 hr
S T I060n60 oM ) M
i =4125%x 10°km B¢ 4.125x 10°m 1A
FHE v,=120kms™ 5 3 PAEEE B DAY E B H
rr=2.75%10°km 5 2.75x10°m 1A
(©) Gmym 21 mv? 21
my ZZ:ml(___)zrl= 1¥1 [CO=“—‘] M
(n+nr) T i T
(6.67x107y m, _ (180x10%)?
(4.125x10° +2.75x107)*  4.125x10°
FibA my =5.57 x 10 kg 1A
d
@ ve AL 0Smm g 3kms > 180kms™: |[IM
¢ A 656.28nm
AA v, 180x10°
B, —=-L= =AA=0.394 nm <0.5 nm ;
= 21 ¢ 3x10® M
1A

FRIURESE -
B2l 120kms™ 5 - A1=0.263nm < 0.5 nm
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OE : FFHER

1. D(40%) 2. A(42%) 3. D(62%) 4. B(66%)
5. C(47%) 6. C(44%) 7. A(42%) 8. B(36%)
EE PaR £ EH
2. (@ - BY#ZpRUSEE/EERESHEGSE R TFZEHE 1A
HIRLF 0 2K
- BT E TR 0 B
- BYRESNER S EER EE
1
() MIEEELR B HBERE 1A
1
b _he 1
() P PR M
E
p== 1A
C
2
@ O F=-2C-0ssev, IM
42
AE, |, =E4—E;=-085-(~13.6) = 12.75 eV
E =-138_ gsasev,
5 52
AE, | =Es—E;=-0.544—(~13.6) = 13.056 eV
12.75 eV < 12.9 eV < 13.06 eV > FTDA % HAE s  |1A
ZRHE =4 -
B AE=E -—E1=—-13.6(~L-—1—)=12.9ev
n=441 THR n REE > REM =4 E=ZZHE) - ||,
2
ii h o
@ mvr, = n—h:>2nrn=—’—1——=nl (A EHED 1M
2n my
% n =4 21(0.053)(4%) =41 1A
EfbL A=1.33 nm
B r=(0.053) 4’ nm = 0.848 nm = 8.48 x 10"°m
2 2 —19+2 1M
1 ._e_=_’2‘12_=>v2: 1 .e_.i:9><109x(1'6x10 ) 1 -
dngy 2 1 dney r m 848x107% 9.11x10
=>y=546x10"ms™
34
LB 66310 ~133x10°m=133nm
mv  (9.11x1071)(5.46x10°) n
2
(iii) 3 v
? TET 2A
1 2
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| 1. A(33%) 2. D(50%) 3. B(67%) 4. C(21%)
| 5. B(28%) 6. C(28%) 7. C(47%) 8. A(32%)
EE pap i R BH
3 @ (@) T 1 R ____Tziﬂf‘]%% (mcAT)
Fir 35 HY B R S M
_[(20.0x3.0)x1.2]x1000x (33-25)
6.80x1000
576000 _ T
= =85 5 (1.42 474 57 0.0236 /\IF) A
() fEfE—IE
REEWEE  BFEASBE / REEIRAL  |IA
BEEWEE  HMteHERIZWOZEFHAEEEK
=/ MELELHAZE  TENBRERERE
BEEGNET &/ RUERREEE / FRE
HEE (ZR) ERTEANEME
b ® _ 2525 _ i
Pin—m 2.1 (kW) 22100 W 1A
D mAees (COP) = 680 =324 IM/IA
EAPES TN 2.1
WEEEREESFHEFEE - 1A
e BYEREINRE | REERE  BIA 3247
RIEE B2 S E R/ > MGIEEEE - 1A
() () (CD)B>4->D 1A
B B (B % BEER) 1A
(i) RS RE T E 1A

B BRI/ B B(LEESS) B D (REEH) K
A (BERRE) B C (B NI E
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TH - EEYEEa

1. B(47%) 2. D(45%) 3. D(26%) 4. D(29%)
5. B(64%) 6. C(58%) 7. A(50%) 8. A(60%)
EE ol R EH

4. (@ (O 4 HE 1A
B: R E
C: B
D: UREl %

C(HiE EHNPEANER 2 REMER / # |1A

®

(©)

BRI EREE [ PR R A
BEEY - R

(i) 25+20=1.25 (BN 0 25%)

H 607 1A
HASEMEREE (BY 1~2 kHz 5 %) 183
FEEY SR B TR R/ e EEEE A
EEENESEARSNERE -

(i) &R C- 1A
g 4R | B > BENEEE R GLAMEEE BE)FRE K
BB » RH R kHz SHEREE - 1A

Bk # (b
Ll =10 10g§9' M

10
-5
L2=10bg25X10
4}
80

L, L, =101o IM

2 £ 25107
= ~65 (dB) 1A

=14

Bl I,=10"2 Wm™

80
[ =10 log— = =139.03 dB IM
2.5%107°

L, - L; =~65(dB) IM+1A

I .
ﬁ 10 log ( noise reduced)
- original
-3
:1010g(2'5X10 ) M
=-65dB
1A

- Kb 65 (dB)

BZ +65dB
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